[ Efficiency vs vertpos |
~ 0.2

20.18F
g o
>Q167
U -
_50147
O
£0.12
0.1
0.08
0.06
0.04
0.02
.0

+

Ratio

1.1

T
3
T
H
b
T
r
4
-
4
b
2 3

1

||||1|...||!|||| |||!|||l|||!u|!l

0.9

107 1

=
2
N

10 0?
TP vertr (cr%)

—=— DQM_TT__ORIGINAL
Efficiend —— poM_TT__ MODIFIED_propToPlane_PRVersioniFINAL

~ 0.1 : " T T
CIT S RS S S S .
%) N N N N N
>0.08F
>

2

.90.07—
o

£0.06
()

0.05F
0.04F
0.03F
0.02
0.01F

g

o

n a
TITTTIT[TTTITTITT1

G50 10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
2.0.09
S
#0.08
£0.07
3
£0.06
Q
o
£0.05
3]
0.04
0.03
0.02

0.0

Ratio
-
Illlpllll

+
= e
+

Sim. PV z (cm)



	Contents
	Page 1


